Total vNo‘. of printed pageé = 15 ‘
| 4 (Sem-3) COAC
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' CORPORATE ACCOUNTING
| Full Marks — 80
Pass Marks — 24
Time — Three hours

The figures in the margin indicate full marks
for the questlons

Answer elther in English or in Assamese.

FIE WA SIS ey | T
1. Answer as directéd i , '1><10-=10 '

(a) Capital Reserve is created out of : (Select
- the correct option)

ﬁ@i@ﬁwm(ﬂ%mﬁﬁw"
") 3

(i) Current year ’s profit
(i) Profit on sale of fixed assets

A TG RF R @ an Gl
(iii) Share transfer fees:

o QABRS AR oi=t
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. (iv) General Reserve

. *IT*IW-‘I ?If@ﬁ 219
(b) Under section 209 of Compames (Amend-
’ ment) Act, 1988 all companies are to
- maintain- the books  of accounts -on
. basis. (Fill in the blank) ' :
=AM (GIeNfRe) wizw 19884, @Rl 209
SRR e @AM ek I[ET
— fofes e AR AR (IR 3%
9] w) : ' |
(c) . State one reason for i issuing Right’ Shares :
to the existing -shareholders.
IO TR ST SPRTE w9
. Rfe [ 9B TRy ﬁcm el :
(d) -Bonus shares are 1ssued (Choose the correct
~ option).
| @mwﬁﬁwm(wemm)
| (i) to debenture holders
AT 4R TR
(ii) to equity shareholders
TAHAG 4T Ao _
(iii) to preference shareholders
SR S givw e
(iv) None of the above
@R B8 T
" 9/4(Sem-3) COAC )

®

(2

(¢) Interest on debentures is calculated on issue

price and not on face value. (State whether
the 'statement is true or.false) . )
WA T A M =W TR R 9 wre
esive, fERke Fe \'svrq'eml (@%ﬁ:‘t oG

@ g B

No interest is payable on debentures issued
as - security. (Fill in the blank)

' G R R 3 Aetsies eoive
(I TS A T A (IN I o7 9)

A compaﬁy redeemed 4,000, 15% deben-

‘tures ‘of Rs. 100 each issued at a discount

of 5%, redeemable at 10% premium,
converted into equity shares of Rs.10 each
at a premium of 25% before maturity. State
the number of shares issued. (Select correct
answer from below).

cﬂﬁ@ﬂ“’nﬁmmmOWS%mﬁ%

1, 10% SiRgRe @Gﬁ% 4,000 15% Asiofg
AfStol 10 5R 25% WFW TW SR

- SIS ALY FfAs T I | A Sroet

‘ %WWWWI(WWWW
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G 37,500
(iii) 35,200

(i) 33,600
(iv) 32,500
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(h) Shareholders . holding  ——— %
equity shares in-transferor company become

shareholders of transferee company. (Fill in
the blank)

mmﬁmwnﬁa

(ana"tﬁivﬁ«t)l

) Reserve other than ‘Statutory Reserve of .-

transferor company are not recorded in the

financial statement of transferee company.
(State true or false)

IR IEN Aol @i - R
WWWI(wmeN

G) Write the meaning of ‘Vesting date’.
“Vesting Wﬁ‘ﬂ’ﬁ oif f?‘wn

%@”*Iviaw
3] FiaIeSe! Wﬁawwwkﬂwt

(c) Give journal entries of issue of fully 'paid
bonus shares- issued at” a premium with
imaginary figures. A
FERT TRYPFR Sr“z[cf RIGERS Wfﬁm@ Qe
s RfeT 91w s aRki® W A

(d) - What " is collateral security in issuing
debentures ? | '

oo RfeR shiwe wfelRke wifm & ¢

(¢€) What is ‘Purchase consideration’ in the
context of amalgamation ?
G 1F9R “iRrefFres ‘m Rezea’ zﬁm &
= o .

Answer any four of the following :  5x4=20

were it i et SR Sew o ¢

(2) The following is the extract of Trial Balance
~of Jio Ltd. as on 31. 3. 2018:

v RfiCBER 31. 3. ZOISWWW
WWNWWW?@

Answer the following questions : 2% 5=10 .
‘ Opening inventory 17,210
OTR ANART Tew o e SR TGS ok , o

(@) | State the meanmg of interim leIand Sal " ( ) 2.72.000

SERSIPET TSI wel Ryt | ales' (ReF) e
. Salaries and wages - 28,500

(b) When and how profit is capitalised ? R W TR
@i'@’ﬂ-‘wmmﬁﬁww@? N
o _ 9/4(Sem-3) COAC - (5) : [Turn over
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. Rs.(G3)
Purchases (=F%) . 2,14.500

Sales return . - 2,000
R e

Dividend received . 4,300
Aot oy

Import hcense fee . 1,450
SEMA SERIAT e .
Staff welfare expenses : 2,000
Machinery - - 70,000
IS . -
Advertiseme;it‘ ' ~ 4300
Raism ' '

You are required to prepare a Statement of
Profit and Loss aﬁer considering the
- following :

'Wfﬁmﬁﬂwﬁmwaﬁamma

o RS owe 3t ¢

(i) Closing stock as on’ 31 3.2018 is

-~ Rs.17,000.

3132018 s weR@ wgw AT

17,000 ‘Bt

9/4(Sem-3) COAC (6)

(®)

(©)

9/4(Sem-3) COAC - 0]

(i) Goods distributed- as sales promotion
Rs.1,000 .not included in the Tnal
Balance.

| ﬁﬁaﬁawﬁwmmoom

2 icy]

(iii) De';;reciate Machinery @ 6% p.a. for
6 months.
. AR eoge IR 6% JR 6 W=
. orRy 4RI |fR|

What are the objectives of Right issue ?

- oRer wet R SR & e
X Ltd. took over the assets of Rs. 30,00,000 -

and liabilities. Rs. 1,00,000 from Y Ltd. at

" an agreed value of Rs. 27,00,000. The
purchase consideration to be discharged by

issue of 15% debentures of Rs. 100 each

at 20% premium. Show necessaty journal

entries in the books of X Ltd.

X%ﬁWY%ﬁ'C‘BW"R3000OOOW .

sife =% 1,00,000 5] @@=t 27,00,000
Bore fdte I = | FR-Resat afStet 100

ThE 20% RIS 15% wsim RE IR
- sfRRety T 1 X Ffiees 38 awemE

s 2R @

.meﬂ@q‘aﬁmmm@wm '4
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(d) . Mention the condmons to be satisfied under -

()

®-

section 77A(2) of the . Compames Act for
buy-back of shares.

WWWA(Z)WWWWW—
efiefl IWITS @I mﬁa 9N DO
@WWI

Pass journal entries in the books of

transferee company under ‘Purchase method’.
YR 4 AT <R R LIS

mmerﬁ%ﬁml

- Explain the dlﬂ‘erent sources of finance of
redemptlon of debentures

'mﬁwﬂﬁm«mwﬁmﬁ@ﬂ

@WWWI

Answer the following questions : . .10v><4=404

Reste emimie Bew = ¢

(a)

From the following balances and other
information of Trinayan Ltd. as on 31st

March, 2018, prepare a Balance Sheet as per .

Companies (Amendment) Act, 2013. 10

9/_4_(Sem.-3) COAC (8) 20,000(W)

weTe fial 2018 579 31 WS© Rz BIRGT
T I A SYSTRF A1 2013 573 =41
Gretifte)eizy PR B 9w ewe
FAs ~ '

. Amount (Rs.)
Paid up capital : 3,60,000
(Equity shares qu. Rs.10
each, Rs.9 called-up)"

o ofiely R TERE 8

(9 Tlts woR A Al
10 S L id)
Unclaimed dividend 10,000
Goodwill - 25,000 °
- |
General reserve 20,000
AR A |
Trade payable | 30,000
Calls in arrear " 5,000
SAMIEA ©FR |
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Amount (Rs.)

‘Securities premium

*fogfs wftma

 Inventories

TEre AN
. Interest outstanding

| GETE TS |
12% Debentures

12% 999

Cash "and cash equivalent
O S AT TR
Patent

]

Bills payable
Building

\CI O

Profit and loss Account (Cr.)

e, EIFeR =B (GF)

Investment
RfRcma

_ 9/4(Sem-3)COAC  (10)

35,000

95,000-

18,000

3,00,000

19,400

18,000

37,000

" -3,02,000

10,400

12,600

> o ' Almount‘ (Rs.)

~ Plant (TFATS) - 2,85,000

Trade receivable . 36,000

~ Provision for tax . - 12,600

Preliminary ‘expenses o 40,000
AET IT -

- ®)

9/4(Sem-3) COAC . (11)

Other information :
W;U oY 2

(i) Preliminary expenses. of Rs. 5,000 .
- written off dunng the year.
IS 5,000 5 ﬁﬁf@?‘ T Im
==

(i) A claim of Rs. 12,000 for employees'
compensation is being disputed by the
company. ' '

T THIR s A 12,000
Bl @B MR wEERPe % SR

A company has Rs. 6,00,000 paid up share
capital of Rs. 10 each. The company
required additional capital to expand their

business. With that object, the company

[Turn over



decided to offer right shares to its existing |

shareholders in the ratio of 3:5. The market
value of the share is Rs. 25 and the right
. shares were issued at 50% premiuni.
Calculate the market price of a share after
issue of right shares and the value of right.

' 10

Bt G111 25Ut 10 TR 6,00,000 BT

RS A BT | IRAFCBN A AGIE

@>iNe SoRe FFR  awmew| ¢
BT CRIAITICOITT TSR SR ST
3:5 FACIRIYS wesig Retitst Frars

o1 efe S I@E FT 25 B9l W

SRPRYE SPTR 50% it /s w1t =)
SieRTe ot R v Pige et wwm
TR T A SRS R T A |

Or /=gt

Discuss the various methods of redemptidﬁ
of debentures and their accounting entries.

10
fiﬁ%ﬁq@ﬁmﬁlﬁ%ﬂﬁm&mﬁ%ﬁ
WWWI

9/4(Sem-3) COAC (12)
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A company's share capital consists.of 20,000
equity shares of Rs. 100 each, Rs. 75 paid
up. It has Rs. 15,00, 000 in the reserve fund.
The directors recommend the following with
a view to capitalising the reserve. |

AfSTot 100 B 09 75 Gl e A
20,000 FNHCI Bl @ANT ToRA oAfPS
ZECQIWWIW‘i Jffers 15,00,000 ot Tt

ez | R FANIFe PR AT AT FFCA
WWWﬁWWWWﬁm

(i) The existing shares be made fully paid
up without the shareholders having to
pay anything.

I T s R T ng
| s ST IR ORAR PR

(ii) Each shareholder to be given bonus

shares for the remaining amount. The -
shares to be valued at Rs. 125.

Give journal entries in the books of the -

company for issue of bonus shares.
10
I 2t JRERAE Afn w1
e (@A Sl R ) SR
125 5@ R R AR
@ ol RiF 99 IR Q@A
e s oRkR fEn
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Or/ =2t

of inerger. 10

' ., (d) A company issued 15% Debentures of
; Rs.40,00,000 at 10% discount, redeemable

at par. Assume firther that debentvres 2z

/

ntries for issuc of debenturcs
nt of Discount On

Pass journal €
and prepare ledger accou

issue of Delenires.

%Wmmaﬁﬁm R
1 | ﬁw%

Or/ A

Dl.scuss. the. \ﬂ%&\m\m\s\mm\&@
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- Discuss briefly ‘the amalgafnat.ion‘ in the ﬁature
of merger.. 10
mﬁaam w «ﬂa@zww R syt e
Sl

(d) A company issued 15% Debentures of

Rs.40,00,000 at 10% discount, redeemable
at par. Assume further that debentures are
to be redeemed by drawmg method in the

following manner : 10

Got AR W@ sifoiry aﬁa 50}
40,00, 000 B39 15% #I‘T"i@i 10% 3igre. Rfs

IR oot Tl wPIR AetaEE e

&fee ARCNY IRT =wfw ¢ - .

Year end. Amoimt (face value)

T TS AR (FiRs wp)

2: 4,00,000

3 8,00,000

4 12,00,000

5 16,00,000
9/4(Sem-3) COAC .(14)

_ Pass journal entries for issue of debentures -

and prepare ledger account of Discount on
issue of debentures: -

Aol RSl 791 Sicwl &R fal o [wesig

k ﬁﬁww MWWWﬂM

Wl
Or/ @il
Discuss the legal provisions regarding the
-~ capitalisation of profit. 10
ST TR PR TIFS A7 A R
el <4 ,

" o/4(Sem-3)COAC - (15) 20,000(W)




